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Hipc| WY g 4 | AR B S b x| B o A | ] B S i
] ) 174 149 181 330 g o H7| 1,105 1,024] 1,122 2,146
A B HT 330 280 321 601 7 U W& HT 488 464 493 957
R S BT 348 302 349 651 7 [#p  # HT 777 786 838| 1,624
ot Bk HT 266 229 251 480 ~ [w A& HT 580 495 468 963
ff B HT 15 10 9 19| # | & HT 14 19 14 33
P PE D N ) 22 18 17 35 X |# W WY 3 2 5 7
F Ny 41 41 50 91 B = HT 787 724 783| 1,507
H HT 335 279 273 552 10 | g — T H 649 602 696| 1,298
H b, Y 62 53 63 116| BT [ = T H 377 355 374 729
B 9 HT 201 165 176 341 mh=TH 459 448 437 885
oo H HT 213 200 200 400 /N =t 5,239 4,919 5,230] 10, 149
X |db B HT 119 87 93 180 il ET[ 1,094 929 942 1,871
JE, HT 168 182 194 76|l B Hp[ 1,122] 1,078] 1,029 2, 107
#  1H HT 187 136 182 318(Hux|FE f 5 HT[ 1,621| 1,580 1,569 3,149
S ) 76 60 75 135 b & 7| 1,117] 1,038 918| 1,956
17 [z B HT 69 62 62 124 487{ /)5 = 4,954] 4,625] 4,458] 9,083
I N S ) 139 120 112 232 gt f HT 346 283 272 555
Wk FEHT 86 72 59 131
/)N Z 2,765| 2,373] 2,608 4,981 = |*F MW HT 94 65 79 144
K T 127 125 109 234| #t |¥5 L} 157 122 119 241
ve (v Gt 8% mr| 1,809 1,880 1,995| 3,875 X gk £ HT 379 348 388 736
O 3 OHT 287 307 105 412 B HT 366 352 337 689
WSy — T H 877 815 844| 1,659 8 [HFFE—TH 735 671 758 1,429
My — T H| 1,200 1,205] 1,225 2,430| ®7 [sEH T H 523 607 612] 1,219
X weyr = T Bl 1,356] 1,375] 1,373 2,748 /)N =t 2,686 2,520 2,624 5,144
By PU T H 471 483 582| 1,065 1= [#EmEE—TH 713 710 744 1, 454
10 (BB HT 178 185 220 405| "8 [fEmEE T H 816 779 809| 1,588
my | 7 237 225 254 479 & WemE=TH| 1,435 1,285| 1,490 2,775
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= i) 452 442 530 972|Hx
Wi — T H 442 389 367 756] 107 /) i 7,088] 7,654 8,041] 15,695
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Wi = T8 146 128 109 237 EE T8 582 481 595 1,076
fitg — 1T H 272 255 242 497 #* | EH = T H 330 292 318 610
i T8 514 483 458 941 FEEHEMTH 423 365 372 737
#fFE =T H 379 391 368 759 EEHTE 501 507 575| 1,082
ST m HT 532 549 562| 1,111 B ¥ — T B 672 649 702| 1,351
il —T H 423 382 410 792 = T B 811 863 934] 1,797
il — T H 321 345 362 707 = — T H 473 465 444 909
X | Fnl =T H 197 220 161 31| #i|== W T H 635 653 653 1,306
Wi — T B 476 538 570 1,108 = f. T H 345 350 391 741
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9 T H 765 771 828| 1,599 A7 HT 328 306 305 611
S = T Bl 1,022] 1,084 1,060| 2,144 BT 387 360 384 744
M T H 753 780 796| 1,576 gk — 17 B L 17| 1,161] 1,179 2,340
EYCERN 757 816 812| 1,628 e — T H 641 654 639 1,293
<o T Bl 1,116 1,197] 1,194 2,391 i |[fEE = T B 282 289 287 576

BIEHR—-TH 214 161 178 339 K 4B HT 332 314 307 621
W T H 862 803 847 1,650 B 5 W 156 102 119 221
KR =TH 98 101 101 202 (I g — T H 276 257 246 503
5 T HT 373 311 62 373 mfE T H 393 381 407 788
mER—TH 119 144 132 276 mfE = T H 275 281 300 581

lEmER _TH 588 605 508 1, 113| # [ T 496 520 523 1,043
R =TH 873 936 965 1,901 HE T H 346 372 387 759
&R T H 847 898 860| 1,758 % _TH 438 523 547| 1,070
mERAETH 672 745 710 1,455 X [#HZE = T H 476 545 539 1,084
mE—TH 739 735 642| 1,377 R HT 3 3 2 5
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EEWE=TH 981 1,095 993| 2,088 hE T H 542 553 635 1,188
AN T H 117 109 100 209l 9| B =TH 639 619 637 1,256
mEA—TH| 1,649 1,798] 1,698| 3,496| ®1 [fp & U T H 285 314 320 634
mrdb =T H| 1,155 1,229] 1,188] 2,417
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- S A 288 334 343 677 # [ BF W7l 1,399 1,575 1,638] 3,213
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e & T 256 309 317 626| M &5 1 ¢ mp[ 1,058 1,138] 1,206] 2,344
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5 E Fa HT 275 289 317 606
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AL 759 819 815 1, 634| HT
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-] 849 870 862 1,732 Gt & # Byl 1,296] 1,576 1,597 3,173
ook s mp[ 1,198 1,331 1,232] 2,563 GF [ i T 331 423 459 882
O] 518 594 621 1,215 ¥ |k AN A B[ 1,764| 2,310[ 2,365| 4,675
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I\ Ao BTl 1,271 1,512] 1,516 3,028 7 Fy  H7| 1,518] 1,658] 1,672 3,330
B R HT 516 640 669 1,309 2% |7% JIl  HET| 1,029] 1,065 1,147| 2,212
Ho[R A PR HT 725 965 993 1,958 A HT| 1,965 2,217 2,213| 4,430
X 56 BB ¢ HT 937 983 988| 1,971
(B % H 648 688 735 1,423
4 B HT 318 362 364 726
iny B H HT 803 925 879| 1,804
N =f 5,050 5,895 5,823 11,718| Hu |k @p  HT 193 234 239 473
o [HEBSIT A0 /L 4,361 4,973 5,277] 10, 250 . B OHT 134 175 178 353
| T gL ey 945 1, 145| 1, 164] 2,309 o ks ET 173 202 209 411
H\HERE — T H 488 566 520 1,086| X | L HT 297 352 358 710
X (BB — T H 405 675 623] 1,298 Py A fr HT 279 346 343 689
YA ) 421 501 518/ 1,019
4 & JIl Ep 314 376 344 720
my 18 |4 #r HT 504 618 604| 1,222
/N gt 6,199 7,359] 7,584| 14,943 wy |2 R HT 189 195 140 335
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M (2% B WT 9 M 743 868 783| 1,651 /N Z 10,676] 11,932] 11,996] 23,928
X |micETse K| 1,481 1,492 1,395 2,887| i [ T 518 645 604] 1,249
i [ T 424 517 508] 1,025
4 Mo g HT 530 646 625| 1,271
Hy X (= & W7 227 270 265 535
/)N 3 5,074 5,644 5,437] 11,081 £ H®H HT 190 231 239 470
A= & H| 2,973] 3,195 3,166] 6,361| 6 |5 = HJ 182 219 231 450
= By BT 1,350 1,702 1,636 3,338] #r
W 1w & HT 95 112 108 220 /N = 2,071 2,528 2,472 5,000
OH R HT 821 936 893| 1,829 L 622 639 701] 1,340
| 9 Ep[ 1,897 2,134 2,100] 4,234| E [fr B HT 357 431 458 889
o N BT 1,429 1,564 1,610 3,174 B it 2 B AT 144 197 180 377
X ¥ + Hf| 1,306] 1,490 1,535 3,025| #t [t® & HT 165 217 211 428
X | —TH 557 518 560 1,078
7 =NE T H 519 575 543 1,118
ify 8 =N =TH 660 726 794 1,520
/)N g 9,871] 11,133] 11, 048] 22, 181 Hr [ M= T B 222 166 201 367
A& Hp| 2,039 2,269 2,346 4,615
#ol/h IROJE BT 1,546 1,759 1,740| 3,499 /N g 3,246 3,469] 3,648 7, 117
Bk HT 589 654 689 1,343 ®|HE % WT|  1,544| 1,744 1,420] 3,164
(52 ) 261 324 351 675| = [m &% W[ 2,073 2,329 2,134| 4,463
K HT 905| 1,113] 1,076| 2,189| #u |8 # Ak WT| 1,486| 1,596| 1,424| 3,020
(| L HT 456 418 476 894| X [#5 #k  HEr[ 3,084 3,318 2,762 6,080
> S} 442 461 482 943| 4
e FiE T NI ) 12 7 7 14 B [ /)N 3 8,187] 8,987 7,740] 16,727
=191 4 Hy| 5,376] 6,131 6,163] 12,294
8 5 MR W Er[ 1,426 1,489 1,447 2,936
ify E = & g mr| 5,757 6,991 6,985 13,976
AN i 6,250] 7,005 7, 167 14, 172| Ho |HE = 5 HT 946] 1,072| 1,005| 2,077
#owE AT 1,033] 1,102] 1,013] 2,115] X | [ HT 704 895 916 1,811
=  Fn mP| 1,117] 1,248 1,183 2,431 KoOJEROHT 386 388 410 798
i  m Ep[ 1,997 2,183 2,261| 4,444| 7 |= &= HT 735 851 761 1,612
M| F Rk B ET 201 288 260 548| HT
R HT 487 612 598| 1,210 /N 3 15, 330] 17,817] 17,687] 35,504
ol HHT 272 310 297 607
N .l 156 189 186 375
X |EF =B AT 357 373 344 717 1 E A A B267, 526|291, 071]291, 905|582, 976
g (4B N B 12,526 12,194 12,119] 24, 313
X | 21 [280, 052|303, 265|304, 024|607, 289
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1/2 P T AR S SCEA TG
x| B 7 4 [ K B 58 g x| BT 4| K B 7 gl
#Er W mP[ 2,563] 2,872| 2,842 5,714 —» HETFE 272 328 368 696
Mg R 192 230 233 463 = » HHEKIFF 440 521 511 1,032
HORE R HT 24 23 27 50 EYA=LIPNA 175 272 271 543
X = | = HETRAR 292 377 385 762
= AN ER4 94 117 130 247
3 = HHTENL 63 98 91 189
My b | = BT K 150 177 178 355
/N 2t 2,779] 3,125 3,102] 6,227 = BT FRZ 330 432 429 861
FEH—TH 0 0 0 0 = HET R 91 158 164 322
BroEH T H 677 808 795| 1,603 A |=» BETHERH 1, 133] 1,217] 1,237| 2,454
| HTEH =T B 408 442 406 848 = o HATHE 2 I 130 150 166 316
H & HM T H 26 25 1 26 — & HHT 85 118 121 239
H[BrESH AT H 757 881 891 1,772 # | = » HHETHREAS 247 333 297 630
X = BHETA IR 179 241 270 511
= HETYEL 156 271 294 565
5 X = HITfR R 292 419 398 817
My = HETAK 115 166 183 349
/N Zf 1,868 2,156 2,093] 4,249 = H WTEE S HR 81 102 124 226
HH I T /)N B 328 381 369 750 =y HET=, B[ 1,004 1,072 1,119] 2,191
O T BT AR B 3,326 4,127 4,292 8, 419] 19
V| T Ey R )[4, 180]  4,333| 4,576  8,909| HT
H1 R VT BT LS ] 151 169 178 347
X | 7T BT = i 674 839 806 1,645
5
My
/N s 8,659] 9,849 10,221] 20,070
Sl ET T 1,455 1,754 1,781] 3,535 /N 2 5,329] 6,569 6,736 13,305
51 & Wy 3 191 230 242 472 /N [ 3, 122] 3,920 3,885 7,805
GRSt 485 544 565[ 1, 109 W Bpl 1,250 1,595| 1,548| 3,143
51 (5] 42 BT 4 f5 878| 1,001| 1,017 2,018 NEE—TH 378 421 437 858
51 2 BT ¥ 15 60 89 95 184| & |NB & T H 503 601 634 1,235
2| e BT )1 44 115 141 160 301 NEF&E=TH 288 309 342 651
g1 & By B 47 61 72 133 WNEFEH T H 524 577 639 1,216
IR ORI 217 216 239 455 S b 1,123] 1,395| 1,429 2,824
S RT U 5 44 53 59 112 4 |YedE— T H 572 847 803| 1,650
Sl N B & 73 79 99 178 PeHiH T H 553 894 869| 1,763
GRS RN 88 117 114 231 PeHiHE=TH 668| 1,040| 1,050 2,090
#5142 BT A 44 54 62 116 PN T H 393 548 5711 1,119
S| e BT A5 74 103 115 218| H# [Yui5 LT H 213 236 255 491
GRS ) 23 34 30 64 Y55 TH 44 29 30 59
5T 76 BR A 36 45 46 91
X |51 4 0T e B2 32 45 38 83
51 & Wy FE S 109 145 136 281| X
5 IT SRR Lo A 81 98 84 182
ST R R 58 51 76 127
51 & W B By 94 108 127 235
GRS 47 87 75 162
Sl N = & 44 68 71 139] 13
25 |5 2 1T 5 3R 72 97 93 190]| HY
my 5] 42 W] & 2 176 255 257 512
R = S T 323 480 515 995
/N g 4,866] 5,955 6,168 12,123 /)N i 9,631 12,412] 12,492] 24,904
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N AR B 58 i | B 5 4 | T B 58 g
=3 Bl 1,427] 1,851 1,855] 3,706 I= o 1,805| 2,354] 2,459 4,813
th 2| 1,266| 1,555 1,456 3,011| f& & JEl 2,072| 2,773] 2,862| 5,635
BeoozA | 1,693] 2,015 2,016] 4,031 PiN b 115 152 148 300
It 1= JH 798 916 893 1,809 E |4 7S 25 33 29 62
EES 2,843| 3,540 3,510] 7,050 JK K 22 24 22 46
HOOE @ 912 1,171 1,198 2,369 1 |= kK 0 0 0 0
ElHm —  f 181 224 263 487 moook Hh 45 61 58 119
A R Al 1, 118] 1,266 1,290 2,556 X
B ZN 128 161 153 314
H A 692 669 708 1,377 7
5 A oy 2,619] 3,076] 3,157 6, 233] HT
/N VS 798 984 1,013| 1,997 /N 5 4,084] 5,397 5,578 10,975
X | Hh 489 679 683 1,362
= 199 226 228 454
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